HIGH COURT OF BOMBAY AT GOA
PORVORIM - GOA

SCREENING/WRITTEN TEST
FOR THE POST OF CLERK
HELD AT DON BOSCO HIGH SCHOOL PANJIM GOA
ON 11" February, 2024 AT 11.00 a.m.

Seat No. Code No.

Supervisors Name

Supervisors Signature :

( For Office use Only)

To be filled by the Supervisor

Date

INSTRUCTIONS TO THE CANDIDATES (Read Carefully)

1) [All qut,slmn'; are compulsory.

2) |There are 90 questions in all. Ensure lhdt your answer booklet hdb 9(1 questions.

3) |All questions carry equal markb i.e. one malk for each correct answer.

4) | Write the alphabet corresponding to the wua :mswu using ()nlv_a Blue Ballpoml
pen. The alphabet should be written only within the square provided below the word
'Answer'. ( See the Example illustrated below)

Question | Which is the Capital of State of Goa?
No.J A) - Margao - Answer
B) Pdlld]l - :
( ) | Vasco da (JleIcl B
D) ]Mdpusa -
_5) Ilh.glbh: and ambiguous alphabt,tﬂ (i.e. Answerb) shall carry zero markb o
| 6) |Overwriting or canceling/scribbling/obliteration/erasing etc.. of the answer in the 5qu'm.
provided, will carry zero marks. B S
7) |Answers written outside the square pr{)V!dtd w1]1 not be Lmhldu‘Ld - B
_ 8) |The candidate shall, 1mmcd1du,ly after distribution of question papers and before
answering any questions. ensure that all the pages of the question paper aﬂgor&
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legible condition. If not. it shall be forthwith brought to the notice of the supervisor,
who may replace the question paper if required.

The question booklet shall not be replaced after marking of answers in the answer sheet.

The candidate shall enter his correct Seat number on the booklet in the box provided
therein and shall ensure that the supervisor has signed the cover page. with date.

The Block mentioned as "Code Number' is for Office use only and should not be filled
in.

The candidate should read the particulars and sign the attendance sheet before the
examination.

If the candidate brings with him any book. notes. paper or speaks to or communicates
with any other candidate by any mode during the examination, or smuggles in or
attempts to take out the answer sheet, the Chief Examination Conductor. upon being
informed by the supervisor, may instantly issue suitable orders for necessary action
including expulsion from the examination hall without completing the answer sheet.

14)

Carrying, possessing. using and/or transferring any electronic device such as a Mobile

phone, Smart Watch. Digital Watch. Microphone, Bluetooth instrument. Camera. etc in
the examination hall. is strictly prohibited.

rude or disobedient behavior is liable to be instantly expelled from the examination hall.

Any candidate who disobeys the instructions issued by the Supervisor or who is guilty of

The decision of the Hon'ble High Court shall be binding in respect of unfair means

adopted by the candidate.

dekockockadk K ockokokok
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HIGH COURT OF BOMBAY AT GOA
PORVORIM - GOA

SCREENING/WRITTEN TEST
FOR THE POST OF CLERK
HELD AT DON BOSCO'S HIGH SCHOOL PANJIM GOA ON
11" February, 2024 AT 11.00 a.m.

(To be filled in by the Office)
CODE

_ , | S |
Part | T i v v | Vi Total |

Number Marks

Total 10 20 10 20 20 10 90
Marks

M-il l'k..‘_
Obtained

Total Marks Obtamned (in words)

Date:
Signature of the Evaluator
Date:
Signature of the Moderator
S : _ : S i
PART -1
‘ R . ( Konkani Grammar)
‘Quc_si;on ety ol amicl ' & SSRT ALY SHETR O8] AT )

s A) 3'*; *E%—r —er
‘ g |3 USTdds AT .

'I o | a7 LeTHIT ) _

i D), s $<?7\lr{-'|ﬂ hTERTSH] ) . — |
[Qu;lit;n Hiholl  sedl  FTETS SUEATE] %-l{aﬂﬁﬂ% SJWEV Fodtg ]|
| No.2 £ w3 U’ﬂﬁ'\' )

A~ | taso T TANswRR
B) | La%}s
| €] 99%
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D)y | 198%

mmaf??h<ﬂmmqf?”NQ-&muiEHTTT )

Question
[No.3 ' 4l C@_‘t AT ate H‘ETnTh’ - ]
A) | dladl ANSWER
_[-3) altael (3 == o 1
) e B . ]
C) m\c
D) AT S = =
Question | iehad favay awTm ;!,_{q-ﬂi[ m Ltz I
No.4 TED WoR R d NER st
A) [ 3 ANSWER
B) K
L =~ —_— o _— . ——
o | TER
Dy | ] -
Question | ishet B S nTd \q:ﬂﬁl‘\ “@% B
No.3 ooy a%?—( (rr—sq 'aTlJél 37T
A) | FeR ANSWER
e .
B) | 31181 _ - - B
C) | dTER
D) AR ) Al ﬂ%\- il - .
Question | Hbel  [Geedl ANeai<l sla s QS
No.6 | m_) g,—r_@_ '___"\E‘__ m—,:r_ T - .
A) [$TE) , war , dar, Uie . ~ |ANSWER
E)_ Sq—é . __"::«f‘_ i_l_(:i_,—:{\ih_ r b l_ o - |
) c§.~T|‘T“_s:-| ; Dt " araﬁr_ =, di - R
D) m _g E‘_;_ ¢ di “‘I. = = _l | e e E——
Question e smawe] Gove soft afiEal o
0.
nN[CyyYy o | ANSWER
B) | (! ) _ - |
C] C (¥ ’)3 — = B .
B D) L 3 ) |
Question | * (g ' «mT BIWiEA| SAR aTarg O
PO EEAAE A o ~ [ANSWER
B) | c&Q)
o) | ecE\ g
A EXIEa ——
D) . 4
Question | ¢ W1 u<c2ile| rgﬂ'l'-l 9‘5[5“ eAar &EOWA\— ElQﬂci( ’eHTF PR !’?
No 9
~ . —— o S—
o) [ ETT T d’mtu—\ Uddls] T, ANSWER |
Id—mEQ‘mnr @W& ULarT & —r———]
C) ‘(—”U thiH ‘;ﬂ_é; qg—“ﬁ:{ HI -
D) | Do ET et UedN S
AN N I o L NS )
Question | Elclel Rl T AX 3J2Gel2daAT<2] rrﬁ:[ Ih 3T ]
No. 10
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Question
No.l1l

Question
No.12

No 13

Question
No. 14

Question

No I3

Question | Whi

[No. 16

[ Question
[No.17

A)
B)
)
n)

13)
)

B)

A)
B)
)
D)

B)

A)
B)
)
D)

A)
13)
G)

B)

ailas @R
| aﬁgﬁ—ﬂ

i

1

slasehy
WasarTT

PART — 11
( English Grammar)

Fill in the blank with most effective word to complete sentence
A large crowd used to

to listen to his speech

A) | Follow

Gather

Collect

D) |Deliver

Fill in the blank with appropriate word
His logic

everyone,including the experts

[
A) "I'cased

Delied

C) |Surprised
D) ‘('unthundcd

Question |Which one of the options is not synonyms word for “Notorious

Infamous
Dishonourable
Blatant

minent

Which one of the options is not synonyms of the word “Zeal”

A) i- Zest

Passion

) ll-',nll‘tuﬁiu&;m
D) .| Shirker

Which one of the options is an antonym of the word “Honour™

}

Dishonour

Disrespect

Defame

Derogate |

ch one of the options is an antonym of the word “order ”

Follow

Obey

Judgment
D) | Disorder
Find out wrongly spelled word

A) |Bequeath

QOscillate

() [Moustache

D) ‘l.iulcnam
+

| Question |W|1ic|1 of these options contains vowels”
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| ANSWER

ANSWER

ANSWER

TANSWER

\
‘\

| ANSWER

ANSWER

ANSWER

| ANSWER

|




[No. 1§ A) |UO.LE
B) |D.B.N.R
) . T.V.XY
D) [PSTZ _

Question

What is the past tense of the word “has™
o3 A) i]-la\-'c
B) |Had
¢) |Would
D) |Was
Ezcstion Whi.ch word in this sentence 1s an adjective”
l0.20

“Children get bored very quickly”

Children
| B) | Get

) |Quickly
D) |Bored

|Qllc51mn Fill in the blank with appropriate articles

No.2| one rupee note

\.f\) j:\n
IB) _I}‘[ he
€)1 A
D) ill

|Qucst|0n Fill in the blank with appropriate articles

No.22 He is honest man
. 1.~\) Ian
| : [_SJ_ _;:
‘ ;(')___1119
D) I-that

‘ No.23 | The inspector may proceed to the village and enquire
| A) |in .
i B) |into
_(_')- Lof
-D} ‘;n N
:Qucstion _\\.-"h_z;.l is the meaning of the idiom
No.24 “To carry the day™
‘ \] To loose
| !Hl To win
‘ C) |To take
D) t'I'o pick
”Qucsuun \’\-‘hi.ch is the adverb in this sentence
No.25 | Shyam walks slowly in the garden

|

| A) [Walks
‘ B) |In
|

|

I('l
Ll)) Garden

Slowly
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the complaint

4

| ANSWER

| ANSWER ‘

ANSWER

ANSWER

ANSWER

ANSWER |

ANSWER

ANSWER




Question
No 26

Question
No.27

Question
No.2¥

Question
No.29

Question
No.30

Question
No 31

Question
No.32

Question
No 33

[C)

i

Which is the continuous present tense of following sentence
“He rides a bike”

A) [He will ride a bike ANSWER
B) |He has ridden a bike

.(‘J He will be nding a bike

D) [He is nding a bike

Which is the past pertect continuous tense of the following sentence.

“He 1s singing for two hours ™ .
A) Ellc s;mg, for two hours ANSWER

B) [He had been singing for two hours
1

e is been singing for two hours,

D) | He will have been singing tor two hours

S— T

What is the appropriate indirect speech of following direct speech sentences?
We said to him, “Are you ill?™

A) | We asked him if he was ill ANSWER
B) |We saw to him was he ill

) |We told to him he was ill

D) |We asked him whether he was ill ]
Which is the “verb™ in the following sentence

Shyam is running in the garden e
A) | Shyam _ ANSWER
‘Iil Is

) !Running

D) |Garden -
What is the meaning of the idiom

“A hard nut to crack™ o |
A) [ An easy job o ANSWER
B) | A good job _

) ‘.»'\ difficult job

D) | A short job |

PART - 111 R _
( General Knowledge ) . -

Who was the First Lady governor of Goa? -

A) | Smt Meera Borwankar ANSWER
B) | Smt Mridula Sinha

) | Smt.Sushma Swaraj ]

D) | Smt Karen Bedi - —
What was the name of the Indian Army operation conducted to release Goa from
Portuguese rule” -

A) :()pcr‘dliun Charley ~ |ANSWER
-B) Operation Gama ]

) | Operation Vijay -

D) J()pcra[iun Vikram B | —
Which is officially State recognised fruit in Goa ? B -
A) [Mango ANSWER
B) [f’\})lﬂt’ . e 1|
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‘ () |Banana
D) |Cashew
(Question | Who is the Lokayukta of Goa?
No 34 ) SR S e
A) |[Hon’ble shri Satyapal Malik
B) |Hon’ble shri justice B Sudarshan Reddy(retired)
C) "I-i_nn:lﬂ_c shri justice Ambadas Joshi (retired)
D) |Hon'ble shri justice V M Kanade (retired)
;Qucft—mn In which year the common High court of Bombay for Goa was established?
NSy Teer
B) [1os2
C) |198s
oo
| Question | Who is the Ex officio chairman of Rajya Sabha”
No.36 P ——
| “\_} Prcsuicj‘nl
i B) |Vice president
| C) | Prime Minister
|_ D) |Home Minister
| Question | Which player broke Sachin Tendulkar's record of 49 centuries in One Day Cricket
No.37  |matches?
| A) |Mahindra Singh Dhoni
B) Rnhi_l_Sharmﬂ -
C) | Shubham Gill
D) | Virat Kohli
Quci;lton Which Konkani writer was awarded the S7th Inanpith Award?
! B i )__ bamodar Mauzo _
B) |Ravindra Kelekar
‘ C) |Jerry Braganza
Il ) F}____AE i_l_a_Kanckar : _
Quczstion Who was the First President of India ?
a.42 A) | Mr Shankar Dayal Sharma
B) |Dr Rajicndra Prasad
C) |Dr.Sarvepalli Radhakrishnan
L D) Dr Zakir Hussain
Question | When was the constitution of India adopted by the constituent assembly”
i A) l;"’j\ugusl 1947
B) | 26" January 1950 :
C) 26" January 1948
D) |26" November 1949

. L8

PART -1V
( General Intelligence )

No.4|

o \_'L'__ _

Question | In the the letter in the word "UNDERTAKING are rearranged in alphabetical order

}»Which one will be in the middle in order after the arrangement ?
G

m

—t

) K
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ANSWER

y
!

—ad

ANSWER

ANSWER |
|

_F\N_S\ﬁn

|

ANSWER

| ANSWER

ANSWER |

'ANSWER |




D) N

_ I N

Quu:slion “Nail is related to nail cutter in the same \\»‘5}-' hair is related
Nod2  |To cooee-
A ol - | ANSWER
B) [Comb =
€ {Scissur :
D) _i("olnur B i_ _:I_ . =)

Question | In a certain code, lute is written as Mute and Gate is written as Hate then how will be

Nod43  |Blue is written in that code?
A) |CLUE ~ |ANSWER
| B) |GLUE 1
O |FLUD _ N
D) |FLUE N N -
Question _[n a certain code,' SAGLE 1s written as '—II 69 and 'I’E!;T'%s writ_(e_n_as_‘ ES“ H_U-\E_
No44  |*STEP written in that code ?
A) 4897 i o T [ANSWER |
| B) 4987 ' |
o |4197 -
D) 4387 : -
Qucsn_u.n_ Amit gnés lo a party hosted by his brother Nitin who has ;(l'citlghlgr-xn.i.la, she is
|No.45 dancing with her brother Fshan How is Amit related to Eshan? _
A) [Uncle _ | ANSWER

B) |Brother

) |lFather

D) |Son 1
Question |In a row of 40 girls. when Kamal was shifted to her left by 4 places her number from the
No.46 left end of the row became 10 What was the number of Sujata from the right end of the
row if Sujata was three places to the right of Kamal's original position?
| A) |22 ANSWER
| [ — B
B) (206
C) |25
D) ‘ 23
— 1 — - . N e M e e e
Question |1f all Sundays and second as well as fourth Saturdays are holidays in a 30-day month
No47  |beginning on Saturday. then how many working days are there in the month?(month
starts from Saturday)
A) {20 [ANSWER |
B) |23
0 |22 =
D) |24

Question | Which letter will be 10" 1o the left of the 15" letter from the left end of the alphabet
Nod8  |sequence (A-Z)?

A |E - ANSWER

|

B) |F

) |G
| D
'Qlluslmn Among W.X.Y and Z.cach having different amount of money.Y has more money than
‘NU 49 lonly Z.X and W who among them has highest amount of money”
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; Question
No.30
|

= —

No.5|

Question
No.52

Question
No.33

Question
No.54

Question

| No .55
|

|

D) |7

sequence from the options below
I Table
2. Tree
3 Wood
4 Seed
S Plant
A) [4,5,3,2,1
B) 4,523,

I
C) |1,3,24.5
D) |1.2,3.4;

4

the beginning ?

A) [N

B (M
i .
D) |R -

If th

Ay g

B |6

o [k

D5

A) [TABLE
B) |CABLE
C) |PLANES
D) [LANES

which direction is he from the starting point?

A) | North west
B) | North East

_(;} South east

D) |[West

Winter: Summer - Cold - ?

A) | Wet
B)

Warm

C) |Freezing

D) |Bold

Question
No 36

Medicine: Cure: Book: ?
A) |Educated

B) |Store

C) |Read

10/15

Arrange the words in a meaningful logical order and then select the appropriate

Question | If vowels are taken out from alphabets. which letter would be the 10th consonant from

If the word "MARCH " is written as “HCRAM ~ What does ELBAC stand for?

A man goes 5 km east, he turns right and goes 4km. then he turns left and goes Skm. In

ANSWER |

L

ANSWER

ANSWER

¢ alphabet ‘D" becomes "L and *E’ becomes "M what *C* would become?

l}\Nswri{ '

ANSWER

ANSWER

_— 4

ANSWER

[ANSWER




D) |Library

No.57 12737273777222333727372737733

Question | Forecast: Future - Regret: 7

No.38 B
k4 A) [ Atone

B) |Present
) | Sins
D) | Past

Question | Arrange words according to dictionary
No.59 | Apple
Ant
Alone
Abide
A) [4.3.2.1

B) [2.134
0) 1432
DY {4.1.2.

‘e 1D

- 4=

<
s

Question | Arrange following in ascending order?
No.60 Millimetre
2 Meter
3. Kilometre
Centimetre

4
A) ]1\2_3_4
1

PART - V
( Arithmetic )

Question 90048 X 324 21007

Nl Tay [1202
B) |1382
C) 1572

D) 1 1392
Question | 7942-3587-05 X ?

NebZ L [e70
B) |640
() '?()(i.
D) |680
Q-ut;stioT-
No.63  |cost price of the article?

A) | Rs800
B) |Rs890
C) |Rs768

11/15

A 12
B) |10
0) |8 o
D) |6

Question |How many 7's are there in the number series which are followed by 2 or 37

ANSWER

ANSWER

ANSWER |

- |ANSWER

ANSWER

ANSWER

The percentage profit earned on one article by selling it at Rs 960 was 20% . what was the

|ANSWER

l




D) |Rs820
Qucs:iog 36;” :’;h_o_l' 040=1500
No.64 -A} 63 ————
B [ss
C) |os -
o |75
_(_)uzs;lon .4.?,n—-___
No.65  |same work?
A28
B) |36
oo )
D) |45 R
Question Whalti_s 2% (}1‘2_0"_ -
No 66 A; 020
B) |0.02 :
O [040
| oo
| Question |L.C M (least common n-nmi-plc} of 12,1620 s
No .67 "A) 480 — s
B) | 1440 -
¢) (720 -
D) |240 _ o

Question
No.68

| A) 45 years
B) 48 years
C) |50 years D
D) |55 _vea;s - _
Oucsuon; Find th; a-\«'_(-:ra;:;c_(‘lf 12. .ﬁ‘l 1.6,132,156and 987
NooO Tay [12se |
B [121s
O [12.17 -
| D) 1251 -
| Question | What is the square root of 7056?
No.70 -A}_-;S_ G =
B) |108 -
olsa
| I
D) |94
.(_)uc;tmn .?\m-;:h ot‘lhe_ !?{)Ilowing, number is divisible by 87
NoTb Ty T2
B 13773 .
C) [14539 -
D leort
Question |25/14= /21 _

12/15

“lather is

1en can complete a work in 15 days In how many days will 30 men complete the

The average age of S children is 8 years,when the age of their father is included the
earlier average is increased by 7 years The age of

ANSWER

[ ANSWER

ANSWER

ANSWER

:.f-\NSWFIR

ANSWER |

ANSWER

ANSWER




No.72

Question
No.73

Question
No.74

Question
[No.73

Question
No 76

Qucstion
No.77

Question
No.78

Question
No 79

Question
No 80

A) 39 ANSWER
B) 375 - SRR

o [38 -

D (40 -

.I { the price of five dozen apples is Rs 285 what will .bc lhé p_ri(:t_: .()f.34 apples? N

A) |Rs 140 50 -  |ANSWER
B_J Rs I().l 50 - -

€) |Rs 170 50 -

D) [Rs 15550 _ _ N

_'2-‘0:»0 02+0.002=" : o
A) 02222 . ANSWER
By [2.222 - -

0 [2222 _ ]

D) :323_2 -

"A" alone can complete a work in 1S days and “B alone in 20 days starting with A they

ed
ANSWER

work on alternate days within how many days the total work will be complet
’A) 17 days - - |
B) I_{)_da_vs - -

©) |14 days - .
D) |13 days o -

extra workers are required?

48 workers can reap a field in 9 days if the work is to be completed in 6 days,

how many |

A) |30  |aNswER
B) [32 o

©) |24 - ] -

D) ':22_ - =
What is decimal fraction equivalent to 9/8 7

A) 306 ~ |ANSWER |
B) [112 ' ER——

) [127 - I

D) |1.48 - -

A train covers a distance of 40 km of a journey at a speed of 8km/hrs and the remaining

30 km of the journey in 2 hours find the average speed of a train in whole journey?
'_A)_ 1()- knﬁh - - ] _ANSWL_R [
B) |20 km/h -

“(‘] _‘16 kmfh. _ -

D) [40km/h I

If the sum ol a. number and i11's square 18 13211]_1cn what isﬁle number?

A [0 | ' _ ~ |ANSWER
B) |11 o

€y [12 _ -

D) |13 ]

;rrénge the f(;lIo\a.*in;_l:ractiuns in descending t)rdcr'?_ _

2/3 5/6 ,5/8 9/14

A | 506 23 94 578  [ANSWER




[No.85

B) |9/14 ,5/8 2/3 5/6

) |5/8.9/14 213 5/6

D) |9/14 2/3 518 .5/6

 PART -\ -
i Computer )

Qucstion Which of the folln_m;s_ units nl storage In computer memory is incorrect”?
Nedl Ty Ti Byte (B)=8 Bits

B) |1 I\llobvlcs (KB) 1074 B

C) |1 Megabytes (MB)- 1024(GB)

D) |1 Terdb\lu (T B} 1024 (GB)
(_)u:qt_lon Ii;w many n,haraczer:;:r__lc:n—e; or symbols dnts a bvte store in computer
o A) |Three -

B) |Four o

) |Two

D) |One o
Question | Which of the iollm\l;; options is the Rhﬂﬂtlll key to paalc the cut or copi
No83  |the computer”?

A) |Ctrl+v R

B) |Cul+x - o o
. C) |Ctrl+c - _ _
| D) Clll tp
Qucsti_on .\:V]uch of the following language does the computer undusland’
Nes 5o A) |Computer undt.rslalldSL_rnI_\ W Ianuuag -

B) (‘ompuie_r Lmder-slands only Bﬁdl"\ language -

h(_)—_( omputer undcrstdnd_s only Basic language

ID) |Computer undcrsldnds mll\ Assembly Answer Language
ac_sao_n_”Whmh of the tollnwmg unit is responsible for converting the data received from the user

into a computer understandable format?

l A) | Output unit

B) | Input uni.l_ B
' C) |Memory unit o

ﬁ%\nlhm[ﬂ?and l U;I\. unit _ N
(_)_u;s_t:on— Which of the tollowing part of a processor contains the hardwm necessa
No.86 all the operations required by a computer?

lA) Controller ) .

B) |Registers

C) |Cache -

D) |Data path
Question | Which of the following is dcxu_md to control the upmdlmn dnd |)rmu~s|n
No87  la computer”

.A} _.l,iser

B) | Application sottware

( ) System s&lware

Dl Utility software
Question | Which of the lnllumn;_r etains the information it's storing.when the power to thc system
No 88 is turned off?
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ANSWER |

nu,mnrv ?

f-\NSWER

ied content in

ANSWER

ANSWE R

ANSWER |

ry to perfni m

ANSWER

o Lapahl]uy of

ANSWER




No

No

A) [CPU
'B) |ROM
!(1 RAM
Mh DIMM

89 which i1s known as ?
|A) 1P Address
‘Bl ‘Ilnst name
.(') Domain name

D) | None of the above
4 L

[Qucstion | The term PNG refers to which (ile?

9() I e :
A) [MS Office Document

3) I:'\'lm ie/Animation file
f}lAmmwﬂe

D) llmagc file

FokdowoR # kEE
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ANSWER

Question |Every computer connected to the internet is identified by a unique format part string

| ANSWER




